
1_NasaLee vs Vegetable  
(5分)

時間限制: 1 second
記憶體限制: 256 MB

題⽬敘述  
在遙遠的東⽅世界中，有⼀個名為「NASA」的國度。NASA 是⼀個獨裁專制的國家，由領導⼈ Vegetable 統治，
他在這個國家中扮演著如同國王⼀樣的⾓⾊。不僅全國⼈⺠都需要對他卑躬屈膝，舉國上下的⼤⼩事物也都需要經
過他的決定。不過，由於要決定的事項實在太多，Vegetable 有時沒辦法⼀個⼈處理完，因此，他在國⺠中精挑細
選出了⼀些優秀的⼈才協助他辦公，並稱作「佇」。由於這些佇在國家中扮演著重要的⾓⾊，因此，⼈⺠⼜習慣稱
呼他們為「佇⾓」。

NasaLee 是⽣長於 NASA 的⼀名青年。從⼩開始，他就對著佇⾓們有著很⼤的憧憬，他的夢想便是希望能夠成為
他們的⼀員，協助他所尊敬的 Vegetable 做事。也因此，他在成年的這⼀年便成為了⾒習佇⾓，開始了實習的⽣
活。然⽽，在實習的期間，他卻發現現實跟他想的完全不⼀樣。佇⾓的⼯作量不僅⼤的不合理，還得隨時聽候 
Vegetable 的差遣。最令他不可置信的是，他尊敬的 Vegetable 平時在國⺠眼中表現出⼀幅和藹的⾯孔，在⼯作⽅
⾯，他對待佇⾓的態度卻⼗分惡劣，幾乎到了不把他們當⼈看的地步。感到失望的 NasaLee 於是決定起⾝反抗 
Vegetable，他組織了⼀⽀起義軍隊，準備和 Vegetable 進⾏殊死決戰。

NasaLee 和 Vegetable 現在各⾃擁有⼀⽀軍隊，雙⽅的戰⼒值各⾃可以⽤⼀個正整數表⽰。NasaLee 的軍隊戰⼒
值為 ，Vegetable 的軍隊戰⼒值則為 。在最終決戰中，戰⼒值比較⼤的那⼀⽅將成為勝
者。你，作為⼀位史學家，需要紀錄下這場戰役的勝者，讓後⼈能夠銘記這段歷史。

輸入格式  
輸入有⼀⾏，每⾏包含兩個正整數 。

輸出格式  
輸出⼀個字串代表勝者的名字 "NasaLee"(不含括號) 或是 "Vegetable"(不含括號)，保證不會有戰⼒相等的情況。

資料範圍  

測試範例  

輸入範例 1  

輸出範例 1  

7 4

NasaLee
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輸入範例 2  

輸出範例 2  

 

 

5 12

Vegetable
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1_NasaLee vs Vegetable  
(5 points)

Time Limit: 1 second
Memory Limit: 256MB

Statement  
In the distant Eastern world, there is a nation called "NASA." NASA is an autocratic country ruled by a leader 
named Vegetable, who plays a king-like role in the country. Not only do all the people have to bow to him, 
but all matters of the country, big or small, must be decided by him. However, due to the sheer number of 
decisions to be made, Vegetable sometimes cannot handle everything by himself. Therefore, he carefully 
selects outstanding talents from among the citizens to assist him in his office, calling them the "The 
Alliance," which is also known as "TA."

NasaLee is a young man born in NASA. From a young age, he has looked up to the TAs with great 
admiration, dreaming of becoming one of them and assisting the respected Vegetable in his work. Thus, in 
the year he became an adult, he became a trainee TA, starting his internship. However, during his 
internship, he discovered that reality was completely different from what he had imagined. The workload of 
a TA was not only unreasonably large, but they also had to be at Vegetable's beck and call at all times. What 
shocked him the most was that the Vegetable he respected, who usually showed a kindly face to the 
citizens, treated the TAs very poorly at work, almost to the point of dehumanizing them. Disappointed, 
NasaLee decided to rise up against Vegetable. He organized a rebel army, preparing for a decisive battle 
against Vegetable.

NasaLee and Vegetable each now have an army, and the combat power of each side can be represented by 
a positive integer. NasaLee's army's combat power is , and Vegetable's army's combat power is 

. In the final battle, the side with the higher combat power will be the winner. As a historian, you 
need to record the winner of this battle so that future generations can remember this historical event.

Input Format  
The input consists of one line containing two positive integers  and .

Output Format  
Output a string representing the name of the winner: "NasaLee" (without quotes) or "Vegetable" (without 
quotes). It is guaranteed that their combat powers would not be the same.

Constraints  

Test Cases  

Input 1  
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Output 1  

Input 2  

Output 2  

 

7 4

NasaLee

5 12

Vegetable
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